
10 June 2020 Wednesday Race Result İstanbul Racecourse (1st Day)

33rd Race  Starts At:14.30 Condition 1/DHÖW 57 kg, 1000 Dirt (Polytrack)

Prize 1.) 70.000 t 2.) 28.000 t 3.) 14.000 t 4.) 7.000 t
Breeders Premium 1.) 20.125 t 2.) 8.050 t 3.) 4.025 t 4.) 2.013 t

Silk Result Horse Name Age Sire Dam Weight Jockey Owner Trainer Time Win PSF St Margin Late Start RT

1 ALTINKAPLI(1) 3yo gr c KAIZBERT (RU) - SÖNMEZ ATEŞ 57 T.YILDIZ MAH. BAĞ AT.GÖKÇE 1.08.49 34,25 4.16(7) 8 1 Lengths

2 ONARBEY(10) 3yo gr c ARASLI - SEVİNÇKAN 57 G.KOCAKAYA T. H ONAR HAL.YILDIZ 1.08.66 3,55 16.66(3) 2 3 Lengths

3 BOSNA HERSEK(3) 3yo ch c ÖZGÜNHAN - NEVRA 57 GÖKH.GÖKÇE FAT. ÇİFTÇİ R.KARABULUT 1.09.14 3,50 21.26(2) 4 4 Lengths

4 BAŞPARMAK(2) 3yo b c KURTEL - KAFKAS KIZI 57 MER.ÇELİK T. H ONAR HAL.YILDIZ 1.09.82 3,55 4.18(3) 6 Half Length

5 GÖKÇESTAR(4) 3yo gr c KAIZBERT (RU) - TATLICAN 57 M.KAYA TUN. GÖKÇE GÜV.GÖKÇE 1.09.89 10,95 4.94(6) 7

5 KENANLI(6) 3yo ch c AYABAKAN - NALANIM 57 H.ÇİZİK ADİ. KÖSEOĞLU S.AYDOĞAN 1.09.89 15,80 3.93(8) 5

7 YUSURE GELİN(12) 3yo gr f KAIZBERT (RU) - YUSURE 55 M.ÇİÇEK SİN. KORKMAZ M.SEVİŞ 1.10.28 40,70 1.76(9) 3

8 OĞLUM BATUHAN(9) 3yo gr c KAIZBERT (RU) - SÜZÜL 57 M.K.CEYLAN NİH. UZUN G.TAŞDELEN 1.10.35 66,90 0.85(10) 9

9 GELİBOLU GELİNİ(11) 3yo ch f GELİBOLU - ELAGÖZLÜM 55 A.ÇELİK MUS. KAPLAN Ö.GÜNELİ 1.10.41 12,05 8.1(4) 12

10 KOŞTURBO(7) 3yo gr c TURBO - KOŞARAT 57 H.KARATAŞ M. ERD. DÜZARAT HAY.YILDIRIM 1.12.44 2,60 27.67(1) 11

11 KOTKU(8) 3yo ch c ÖZGÜNHAN - EFRUZ 57 A.SÖZEN MUR. GÜLEN E.KARAKÖLEOĞLU 1.15.77 12,05 5.21(5) 10 6 Lengths

KAANBERK(5) 3yo ch c GÜRGÖKÇE - HÜNERKIZ 57 M.S.ÇELİK M. ZİY. ADALAR C.TURAN Withdrawn 1.29(11) 1

Pick(1) :34,25 t, Quinella(1/10) :71,10 t, Exacta(1/10) :166,15 t, Trifecta(1/10/3) :154,25 t Çıkan 1 Atla: 17,77 t, Place(1) :8,40 t, Place(10) :1,70 t, Place Quinella(1/10) :41,90 t, Place Quinella(1/3)
:19,80 t, Place Quinella(3/10) :10,90 t, Quintet(1/10/3/2/4) :1.909,06 t, Quintet(1/10/3/2/6) :Bilen çıkmamıştır, 3,818.12 TL devretmiştir., 2nd double(2/1) :117,60 t


